Exercises

Solve the following problems

. 12 +3-4-= 9. Which number comes after the following:
- 87 =
2. 18 -7 -4 =
- 93 =
3 20 + 7 - 6 = - 23 =
- 47 =
4 41
+24
L 10. Which number comes before the following
5 4 1 = 67 =
-2 4 -13 =
- 33 =
-51 =
6. 3 - 3 =
7.10 - 9 =
g. 12 — 6 =




Answers

Solve the following problems

12+3-4= 11 9. Which number comes after the following:
-8 = -88
18-7-4=7
-93= -94
20 +7 - 6 =21 _23= -24
-47 = - 48
41
+24
65 10. Which number comes before the following
41 -67= -66
-2 4 -13= -12
17 -33=-32
-51=_50
.3-3=0
.10-9=1
12 — 6 =2
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